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Q- Write tha corract option l.e. A, B, € or D In the enipty box provided opposite to each part,

Marks: 85

Marks: 18

A Anormal curve wilh a small 8.0 {a)wil A, More spread out 8. Lessspreadout C. Poslively . None ofthess
be..... ) ' ' skawed :
i Thedegree of accuracyin using normal A, n B B. p _ C. Bothnandp "D, None of these

approximation for & binomia! distibution
depends upon.values of........

. If The sampling hom finite popUlationis A, a B s I e B
done withoutreplacemant ther o - = - - = fe
' * n : Jn &4 +1
iv.  When samplmg:lspzerfgrmed'wnn A df_' . 0_; B. 02' - C.' T TP D g
- replacemant - = E L D e o '
replaceman lhfa p; Kok . S n ; ‘ N
v. - Which of lhegiven is simple hypotiesis? A" W=20 B a2 Cope 20 D pw20 [:]
vi.  As compared'to normal distrioution, A.- Flalter B. Morepeaked . Gymmelic 0. Negatively
“U~distribulion is ..... : - - skewed
vil. A binary characleristic of a popliation is A, Median B, Mean - L, Proportion "D None of thesa
referred lo as ..., L , A _
Vil Ify=2+06xhen value of y intercept's A, 0.6 | B. 2 C. X D. 0
. Inregressica analysis i[dependent A Musialsobein B, Ganbe anyunit C. Mustbein b,-Noneof[hesa
variable Is measured in rupeas, the © ITupess o some unit of :
indepanderd variabla,...... ) | . currency - _
X Innormal distrioution the area. A 04032 B 03413 ¢ 04040 R
Pl0<z<i3]=....... : . . '
M. The coefficient of correlation is symmelric A, B = 1 B by=bx . Coofy=mp D, Ty =0
eboul Xand ¥ thatfs ... - ' o ) ’ ;
K. The test stalislic used to test the A MNofmat B, Cli Square . C. Binomial © DUt distribution
independence of atiributesis ... .. i _ . '
Wil Inr x o contngency tebi6 Ihe sumof all A, 1000 © B 500 - C. 249 D. 0
observed frequencias are 249 then [ne :
sum of gkpected lrequenclas are....... )
ey
xiv. Damage to wheat crop due lo rain fs.. ... A. Regulai B. Secufarirend €. Seasonal D. Ireegular
' variation vadation variation
Xv.  Semi average method Is used fi.: A Seoular . B, Seasonal C. Cyclical 0. liregular
measwement of ........ variatior
xvi. Thorearé........compon_en::: Suen serlgs, Al 1 © B, 3_ . G 2 D. 4 [:j
avii. . Which of the given is application software? A Word  B. Educational C. Gamos D. Altof lhese

processors

il 109 5 .. ' AT B. 0 C. 05 D. Noneofthesa [
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Time atlowed for Section - B and Section - C is 2 Hours and 40 minutes. .
' Section-B Marks: 40

Answer any TEN parts. Each part carries FOUR marks. ' ' '
i. Find the area hetwean () - 1.73and - 145 () P(z>1.96) ‘
2. Ths number of castomers entering a certain slore in any given day is approximately normally dislribuled mean = 50

and standard deviation = 11. Finc protabilify thal during a given day.

(i) Atleast 50 fi.e 50 or more) customers arrive ()  Belween 45 and 55 cuslomers arrive.

Explain sampling and non sampling errors. -

The marks obtained by six sludents in a general knewledge test carrying 10 marks are 5, 3, 8, 5, 4 and 6. Far each of
possible sample of size 3 in case of sampling replacement, Find value of sample mean X. Wile down sampling

distribution of x, and verify thal & { ) = . and standard errors of x is equalfo o/ .

5, A population consists of four numbers 8, 10,12, 14, Draw all possible samples of size 2 which can be drawn wilh
replacement from this populatien, Find the population varianca. . :
8. A soft drinking vending machine s set to dispense 8 aunces per cup. Trie machine was lesled 35 times and average

cup flled was 8.2 ounces wilh a Standard deviation of 0.12 ounces. At 0.01 level of significance, we can accept or
reject null hypothesis of 'p = B.Oounces against the alternalive hypothesis of p > 8.0 gunces against the

allernative hypothesis of p > 8.0 ounces.

T Cul fine the test procedure for testing hypothesis about a sin'gle population mean ‘11, when 'populalion Standard
deviation is known. ' ’
. Explain the meaning of regression of ¥ on X and Xon Y.
9, Given the bivariate data: '

X 1 8 3 2 1 v 7
Yy 6 t 0 0 1 2 1

Find regression line of Y on X and hence preicl Y, if X = 10,

it Consider 2 x 2 table responding smoking and hing sander. Performy a chi squared fest of independence to decide
whedher smoking is a cause of cancer. Use 0.05 level of significance. '
Cancer Urban | Total ]
Smoking L CM 109
No Smoking 28 112 | 140
Total . 103 146'| 249
11 Use methods of feast squares to it a straight line to following data.
Year 1985 [ 1958 | 1607 | 1956 [ 1995 T 2000
Profit{inthousand Rs.) | 80 | 80 |85 [ 100 | 116 | 420 1
12 Convert the following into required base.
) (M4 ={7)w and (i) (B9Nw= (7)o
13. What is meznl by secular trend? _ ‘ .
Section-C : : Marks: 27

Attempt any THREE questions, All questions carry equal marks.

The fitelime: of a hrand of ight buibs is nommally distdouled wilh a mean of 30 hours and Standard deviation of 5.6 hours. Let X ba the
fetine of a randomly selectad light bufh of this brand, Determine (i Px>20] ' (i) P15 <X <48] (i) P <25],

In a study to eslimate the proportion of residents in a certain city and its suburbs who favour the consiruction of-a nuclear
power plant, it is found thal 52 of 10§ urban residents favour the construclion while anly 34 of 125 sub urban residents are in
favour. Describe the sampling dislribution of difference between the samplo proporlions.

Gymnasls weoie ranked by two judges in following lable. Calculale spearman’s rank correlation.
Firstdudge | 4 |8 8 3 i 2 7 §

2adudge 18 | 4 [ 8 [ T[T 37 [T

Ten oit tins are laken at random from on automalic filing machine the mean weighl of tins if found to ba 15.8 kg, with a
Standard deviaion of 0.5 kg. Does Ihe sample mean difer significandy from intended waight of 18 kg.



